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jgrimm
Text Box
The median Class 1 per the Association of American Railroads (AAR) is 5400 ft (1.02 mi).  Source (https://www.aar.org/issue/freight-train-length/)

Assuming 25mph avg travel speed due to curvature in railway, switchover location, and proximity to CSX Intermodal Terminal.

The Federal Railroad Administration (FRA) requires AT LEAST 20 seconds of advance warning prior to the trains arrival at the crossing, or to indicate the presence of a train within the crossing area.  

Assuming the above information is correct, the average amount of time the gates are down for this crossing equates to 187 seconds (3.1 minutes).
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26575

jgrimm
Text Box
2023 (ODOT TMMS)
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Text Box
Assumed K-factor based on count station north of Fisher Rd.  9%

Utilizing this, DHV assumed to be 2392 with a D-factor of 54%, 4% B&C.  Assuming a PHF of 0.92, that equates to a peak 15-minute volume of 550 or 37 vehicles per minute.

With the previously calculated average delay per train, this would equate to a Delayed ADT of 2180 vehicles.  Understanding that most of these trains will not be passing during the peak hours, a 50% factor will be applied to account for this equating to: 

Calculated Delayed ADT = 1090 vehicles
(44 Trucks & 1046 Passenger Vehicles)

cschripsema
Text Box
https://www.transportation.ohio.gov/working/data-tools/resources/tmms
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